PRINT	TING-DIRECT MAILING SERVICES (BID 2023-03B)									
Item No.	Description		Unit Measure	Est. Units	DOT Design - Unit Price	DOT Design - Extended	Press - Unit	Ridgewood Press - Extended	Premium Prod - Unit Price	
SECTI	ON A: ENVELOPES (24lb. unless otherwise specified)	-		-						
	#10 Regular – Return Address, White w/ Black Ink	Adm	500/bx	40		NB	\$37.00			NB
	#10 Regular – Return Address, White w/ Black Ink	AC	500/bx	1	NB	NB	\$37.00	\$37.00	NB	NB
A3	#10 Regular – Return Address, White w/ Black Ink, Self-Sealing (No Removable Strip)	Bldg	500/bx	6	NB	NB	\$66.00	\$396.00	NB	NB
A4	#10 Regular – Return Address, White w/ Black Ink, Self-Sealing (No Removable Strip)	Crt	500/bx	5	NB	NB	\$66.00	\$330.00	NB	NB
A5	#10 Regular – Return Address, White w/ Reflex Blue Ink	PD	500/bx	10	NB	NB	\$37.00	\$370.00	NB	NB
A6	#10 Regular – Return Address, White w/ Black Ink w/Logo, Peel & Seal	DAl	500/bx	1	NB	NB	\$75.00	\$75.00	NB	NB
A7	#10 Regular – Return Address, White Linen w/ Reflex Blue Ink	Myr	500/bx	3	NB	NB	\$129.00	\$387.00	NB	NB
A8	#10 Regular – Return Address, White w/ Black Ink - MTRD LOGO	Rec	500/bx	30	NB	NB	\$37.00	\$1,110.00	NB	NB
A9	#10 Window – Return Address, White w/ Black Ink	Adm	500/bx	50	NB	NB	\$38.00	\$1,900.00	NB	NB
A10	#10 Window – Return Address, White w/ Black Ink, Self-Sealing (No Removable Strip)	Bldg	500/bx	2	NB	NB	\$69.00	\$138.00	NB	NB
A11	#10 Window (Parking) – Return Address, White w/ Black Ink, Peel & Seal	Clrk	500/bx	5	NB	NB	\$84.00	\$420.00	NB	NB
A12	#10 Window – Return Address, White w/ Reflex Blue Ink	PD	500/bx	10	NB	NB	\$38.00	\$380.00	NB	NB
A13	#10 Window (Pet Registration) – Return Address (Police), White w/ Reflex Blue Ink, Peel & Seal	PD	500/bx	7	NB	NB	\$84.00	\$588.00	NB	NB
	#10 Window – Return Address, White w/ Black Ink	TC	500/bx	76	NB	NB	NB	NB	NB	NB
Δ 1 3	#10 Window – Return Address, White w/ Black Ink- MTRD LOGO	Rec	500/bx	50	NB	NB	NB	NB	NB	NB
A16	#10 Regular Security – Return Address, White w/ Black Ink	Adm	500/bx	1	NB	NB	\$40.00	\$40.00	NB	NB
A17	6" x 9" Catalog – Return Address, White w/ Black Ink	Adm	500/bx	2		NB	\$90.00			NB
A18	6" x 9" Catalog – Return Address, White w/ Black Ink	Bldg	500/bx	2	NB	NB	\$90.00	\$180.00	NB	NB
A19	7½" x 10½" Catalog – Return Address, White w/ Black Ink	Adm	500/bx	2	NB	NB	NB	NB	NB	NB
A 20	9" x 12" Catalog - White w/ Black Ink return address- times roman 20pt, the script is lucida handwriting size 24, all else is arial size 10. The left, top and bottom margin is ½ inch. Mail to: section is 1.5 inch from the right edge	Reg	50/bx	2	NB	NB	NB	NB	NB	NB

PRINT	ING-DIRECT MAILING SERVICES (BID 2023-03B)									
Item No.	Description		Unit Measure	Est. Units	DOT Design	DOT Design - Extended	Press - Unit	Ridgewood Press - Extended	Premium Prod - Unit Price	
A21	9" x 12" Catalog – Return Address, White w/ Black Ink	Adm	500/bx	3	NB	NB	\$115.00	\$345.00	NB	NB
A22	10" x 13" Catalog – Return Address, White w/ Black Ink	Adm	500/bx	2	NB	NB	\$132.00	\$264.00	NB	NB
A23	Envelope size 6 - (approx. 3.5" x 6.5") white with black ink	TC	10000/ea	1	NB	NB	\$769.00	769.00	NB	NB
A24	10" x 13" Catalog – Return Address, White w/ Black Ink, Self-Sealing (No Removable Strip)	Bldg	500/bx	2	NB	NB	\$156.00	\$312.00	NB	NB
A25	12" x 15½" Catalog – Return Address, White w/ Black Ink	Adm	500/bx	2	NB	NB	NB	NB	NB	NB
	4 3/8 x 5 3/4 pre addressed envelope Mayor - Opaque white, vellum finish, reflex blue print on back flap - side seams square flap	Myr	250/bx	1	NB	NB	NB	NB	NB	NB
		SUBT	OTAL (A1-	A26)		\$0.00		\$9,701.00		\$0.00
SECTI	ON B: BUSINESS CARDS (60lb., 3½" x 2")									
R1	Business Cards – White Linen w/ Reflex Blue Raised Ink (No Logo)	Adm	500/bx	3	NB	NB	\$75.00	\$225.00	NB	NB
R2	Rusiness Cards White Linen w/ Reflex Rlue Raised Ink	Bldg	500/bx	25	NB	NB	\$75.00	\$1,875.00	NB	NB
В3	Business Cards – White Linen w/ Reflex Blue Raised Ink (No Logo)	Clrk	500/bx	6	NB	NB	\$75.00	\$450.00	NB	NB
В4	(No Logo)	EDC	500/bx	2	NB	NB	\$75.00	\$150.00	NB	NB
В5	(No Logo)	Eng	500/bx	2	NB	NB	\$75.00	\$150.00	NB	NB
	(No Logo)	Fin	500/bx	1	NB	NB	\$75.00	\$75.00	NB	NB
B'/	Logo)	Fire	500/bx	5	NB	NB	\$75.00	\$375.00	NB	NB
I RX	Business Cards – White Linen w/ Black Raised Ink (REC LOGO)	Rec	500/bx	5	NB	NB	\$75.00	\$375.00	NB	NB
В9	Business Cards – White Linen w/ Reflex Blue Raised Ink (No Logo)	Reg	500/bx	1	NB	NB	\$75.00	\$75.00	NB	NB
$\mathbf{I}$ $\mathbf{B}\mathbf{I}0$	Business Cards – White Linen w/ Reflex Blue Raised Ink (No Logo)	TA	500/bx	1	NB	NB	\$75.00	\$75.00	NB	NB
I BH	Business Cards – White Linen w/ Reflex Blue Raised Ink (No Logo)	Zon	500/bx	6	NB	NB	\$75.00	\$450.00	NB	NB

PRINT	TING-DIRECT MAILING SERVICES (BID 2023-03B)									
Item No.	Description		Unit Measure	Est. Units	DOT Design - Unit Price	DOT Design - Extended	Press - Unit	Ridgewood Press - Extended	Premium Prod - Unit Price	I II
I B12	Business Cards – White Linen w/ Reflex Blue Raised Ink (No Logo)	Wtr	500/bx	2	NB	NB	\$75.00	\$150.00	NB	NB
B13	Business Cards – White Linen w/ Reflex Blue Raised Ink (No Logo)	Myr	500/bx	4	NB	NB	\$75.00	\$300.00	NB	NB
B14	Business Cards – Ivory Bond Paper w/ Black, Blue and Orange Ink w/ Logo in Gold and Blue Ink	PD	500/bx	5	NB	NB	NB	NB	NB	NB
B15	Business Cards – White w/ Black and Red Ink w/ Logo	DAl	500/bx	1	NB	NB	\$85.00	\$85.00	NB	NB
	Business Cards - White Vellum, Black Raised Ink with Green Raised Ink Logo	OpSp	500/bx	1	NB	NB	\$85.00	\$85.00	NB	NB
I BI7	Business Cards – White Linen w/ Reflex Blue Raised Ink (No Logo)	DPW	500/bx	2	NB	NB	\$75.00	\$150.00	NB	NB
		SUBT	TOTAL (B1-	B17)		\$0.00		\$5,045.00		\$0.00
	ON C: LETTERHEAD		<b>T</b> T •.	<b>.</b>						
Item	Description		Unit	Est.						
No.	8½" x 11" Letterhead - White Linen w/ Reflex Blue Raised		Measure	Units						
CI	Ink	Myr	500/bx	2	NB	NB	NB	NB	NB	NB
C2	8½" x 11" Letterhead - White Bond Paper w/ Reflex Blue Raised Ink	PD	500/bx	1	NB				NB	NB
		SUB	TOTAL (C	1-C2)		\$0.00		\$0.00		\$0.00
SECTI	ON D: FORMS									
SEC 11		l I								
NOTE	THE DIFFERENT FIELDS ON THE TAX & WATER FORMS ARE INTER-RELATED/INTER-CONNECTED. THE PRINTER SHOULD UNDERSTAND THAT THE SOFTWARE WHICH PRINTS ON THE FORMS IS ORIENTED FOLLOWING A GRID TYPE LAYOUT. THE LAYOUT & ALL FIELDS SHALL BE SPACED EXACTLY AS THE SAMPLE(S) PROVIDED.	тс								
D1	8½" x 11" Homestead Rebate and/or Anchor Program Bills, 3-Up Perforated Sheet, Black Ink w/ Grey Shading & Yellow Highlighted Text (Note: Page is perforated down the center line as well) Typically ordered 2x per year approx 2,000 quantity each order - with different quarterly information.  8½" x 11" Estimated Tax Bills, 3-Up Perforated Sheet, One	TC	ea	4,000	NB	NB	NB	NB	NB	NB
D2	Color Ink (Not Black but Same Color as Tax Bill) (Note: Page is perforated down the center line as well)	TC	ea	15,000	NB	NB	NB	NB	NB	NB

PRINT	ING-DIRECT MAILING SERVICES (BID 2023-03B)									
Item No.	Description		Unit Measure	Est. Units	DOT Design - Unit Price	DOT Design - Extended	Press - Unit	Ridgewood Press - Extended	Premium Prod - Unit Price	Premium Prod - Extended
D3	8½" x 11" Delinquent Notices, 3-Up Perforated Sheet, One Color Ink Color Shading	TC	ea	15,000	NB	NB	NB	NB	NB	NB
	8½" x 14" Tax Bills, 4-Up Perforated Sheet, (Note: Bottom 1/2 of page perforated down the center line, as well.), Double-Sided, Side 1: One Color Ink (Not Black) w/ Shading, Side 2: Black Ink, Various Color Options (Bills are a different color each year.)	тс	ea	17,000	NB	NB	NB	NB	NB	NB
1 1)	8½" x 14" PD5 Senior Forms, Double-Sided, Side 1: Black & Red Ink (Black & Grey Shading), Side 2: Black Ink	TC	ea	200	NB	NB	NB	NB	NB	NB
D6	8½" x 11" Tax Sale Certificates, Double-Sided, Black Ink (Black & Grey Shading)	TC	ea	300	NB	NB	NB	NB	NB	NB
D7	8½" x 11" Animal Control Forms - Three Part NCR - White, Canary, Pink, Black Ink Sequentially Numbered	PD	500/bx	1	NB	NB	\$124.00	\$124.00	NB	NB
D8	8½" x 11" Traffic Safety Towing - Three Part NCR - White, Canary, Pink, Black Ink Sequentially Numbered	PD	500/bx	1	NB	NB	\$124.00	\$124.00	NB	NB
1 119	4x6 Postcard "SPECIAL EVENTS" single sided high gloss, multi color ink, Marlboro Township Police written on top, EVENT NAME, DATE, TIME PLACE, INFORMATION ON EVENT	PD	ea	2000	\$0.08	\$160.00	NB	NB	NB	NB
	8½" x 14" Application for Zoning Approval - Two Part NCR - White, Canary, Pink, Black Ink, Single-Sided	Zon	ea	2,000	NB	NB	\$0.30	\$600.00	NB	NB
D11	BUILDING SUBCODE TECHNICAL SECTION- 8 1/2" x 11" UCC-F110 State Form, Three Part NCR, White, Canary, Hard Stock Card, Black Ink, Single-Sided (Township Name and Address Imprinted on all UCC Forms)	Bldg	250/pk	18	NB	NB	\$251.00	\$4,518.00	NB	NB
	ELECTRICAL SUBCODE TECHNICAL SECTION- 8 1/2" x 11" UCC-F120 State Form, Three Part NCR, White, Canary, Hard Stock Card, Purple Ink, Single-Sided (Township Name and Address Imprinted on all UCC Forms)	Bldg	250/pk	18	NB	NB	\$251.00	\$4,518.00	NB	NB
	PLUMBING SUBCODE TECHNICAL SECTION- 8½" x 11" UCC-F130 State Form, Three Part NCR, White, Canary, Hard Stock Card, Blue Ink, Single-Sided (Township Name and Address Imprinted on all UCC Forms)	Bldg	250/pk	18	NB	NB	\$251.00	\$4,518.00	NB	NB

PRINT	TING-DIRECT MAILING SERVICES (BID 2023-03B)									
Item No.	Description		Unit Measure	Est. Units	DOT Design - Unit Price	DOT Design - Extended	Press - Unit	Ridgewood Press - Extended	Premium Prod - Unit Price	Premium Prod - Extended
D14	FIRE PROTECTION SUBCODE TECHNICAL SECTION- 8½" x 11" UCC-F140 State Form, .Three Part NCR, White, Canary, Hard Stock Card, Red Ink, Single-Sided (Township Name and Address Imprinted on all UCC Forms)	Bldg	250/pk	18	NB	NB	\$251.00	\$4,518.00	NB	NB
D15	CONSTRUCTION PERMIT AND REQUIRED INSPECTIONS- 5½" x 8 1/2" UCC-F170 State Form, Three Part NCR, White, Canary, Pink, Double-Sided, Black Ink. (Township Name and Address Imprinted on all UCC Forms)	Bldg	250/pk	25	NB	NB	\$122.00	\$3,050.00	NB	NB
D16	PERMIT UPDATE - 5½" x 8 1/2" UCC-F190 State Form, Three Part NCR, White, Canary, Pink, Single-Sided, Black Ink (Township Name and Address Imprinted on all UCC Forms)	Bldg	250/pk	20	NB	NB	\$109.00	\$2,180.00	NB	NB
D17	CONSTRUCTION PERMIT APPLICATION FILE FOLDER-11 3/4" x 17½" UCC F100 State Form, 110 lb. Manila Card Stock, Black Ink, Folded on Center, Printed on all Four Sides. (Township Name and Address Imprinted on all UCC Forms)	Bldg	500/bx	25	NB	NB	NB	NB	NB	NB
D18	CONSTRUCTION PERMIT NOTICE-6"x8" UCC-F180 State Form placard, 150 lb. tag or equal in yellow with black ink for print. Print for outdoor use. (Township Name and Address Imprinted on all UCC Forms)	Bldg	500/bx	20	NB	NB	NB	NB	NB	NB
D19	5 1/2 by 8 1/2 Two Part NCR White and Canary Black Ink, Single-Sided Form	Zon	ea	2,000	NB	NB	\$0.15	\$300.00	NB	NB
	CUT-IN-CARD- 4" x 5 1/2", UCC-F350 State Form, three part, pre-collated, carbonless sets glued on left side. Part 1 white, Part 2 canary, Part 3 Pink. Print black ink on one side. (Township Name and Address Imprinted on all UCC Forms)	Bldg	250/bx	12	NB	NB	\$95.00	\$1,140.00	NB	NB
1 11/1	8½" x 11" CCO Checklist Forms - Two Part NCR - White, Canary, Black Ink, Single-Sided	Zon	ea	2,000	NB	NB	\$0.16	\$320.00	NB	NB
D22	8½" x 11" Life Hazard Inspection Form Cover Page, Two Part NCR, White, Canary, Double-Sided, Black Ink, Sequentially Numbered	Fire	1000/bx	1	NB	NB	\$249.00	\$249.00	NB	NB
D23	8½" x 11" Life Hazard Inspection Violation Page Form, Two Part NCR, White, Canary, Double-Sided, Black Ink, Sequentially Numbered	Fire	1000/bx	1	NB	NB	\$249.00	\$249.00	NB	NB

PRINT	ING-DIRECT MAILING SERVICES (BID 2023-03B)									
Item No.	Description		Unit Measure	Est. Units	DOT Design - Unit Price	DOT Design - Extended	Press - Unit	Ridgewood Press - Extended	Premium Prod - Unit Price	
	8½" x 11" Non-Life Hazard Fire Inspection Form, Two Part NCR, White, Canary, Double-Sided, Black Ink, Sequentially Numbered	Fire	1000/bx	1	NB	NB	\$249.00	\$249.00	NB	NB
D25	* 9 3/4" x 4" Special Complaint Summons, Four Part NCR, Blue, White, Green, Manila Hard Stock, Black Ink, Double-Sided, Books of 10 (SEE APPENDIX "A")	·Crt	2000/bx	1	NB	NB	NB	NB	NB	NB
	* 8½" x 6" (6 1/2" x 4" when ripped out) Cash Bail Receipts, Three Part, One sided, NCR carbonless Booklet, White, Canary, Pink, Black Ink, Bound into booklets of 50, Sequentially Numbered. "Hard stock page" included for in- between writing	Crt	2000/bx	1	NB	NB	NB	NB	NB	NB
D27	* 12" x 5½" ATS Mailers, Continuous Carbonless, Black Ink, Judiciary Seal	Crt	1400/bx	12	NB	NB	NB	NB	NB	NB
D28	8½" x 11" Judgment of Conviction, Five Part NCR, White, Green, Canary, Pink, Goldenrod, Single-Sided, Black Ink One Plate Change, Marginal Words	Crt	1000/bx	1	NB	NB	NB	NB	NB	NB
1 11/9	8½" x 11" DD1's IDRC Forms, Four Part NCR, White, Canary, Pink, Goldenrod, Black Ink	Crt	1000/bx	1	NB	NB	NB	NB	NB	NB
D30	8½" x 11" DD2's Penalty DWI or 3-40, Two Part NCR, White, Canary, Black Ink	Crt	1000/bx	1	NB	NB	\$219.00	\$219.00	NB	NB
	* 8½" x 11" Bail Recognizance, Five Part NCR, White, Green, Canary, Pink, Goldenrod, Double-Sided, Black Ink (SEE APPENDIX "B")	Crt	1000/bx	1	NB	NB	NB	NB	NB	NB
1 1137	8½" x 11" Driveway Inspection, Two Part NCR, White, Canary, Black Ink	Eng	500/bx	1	NB	NB	\$125.00	\$125.00	NB	NB
	8½" x 11" Water Bills, 4-Up Sheets, Double-Sided, White Post Card Weight Stock w/ Blue and Red Heat Resistant Ink, Laser Guaranteed, Multi Perforations per Postal Regulations, Paper path must conform to laser printer specifications.	Wtr	1000/bx	9	NB	NB	NB	NB	NB	NB
D34	8½" x 11" Reminder Bills, 4-Up Sheets, Double-Sided, White Post Card Weight Stock w/ Black and Red Heat Resistant Ink, Laser Guaranteed, Multi Perforations per Postal Regulations, Paper path must conform to laser printer specifications.	Wtr	1000/bx	6	NB	NB	NB	NB	NB	NB
D35	8½" x 11" Termination Notices, 3-Up Perforated Sheets, Double Sided, One Color Ink (Red), Color Shading	Wtr	1000/bx	6	NB	NB	NB	NB	NB	NB

PRINT	TING-DIRECT MAILING SERVICES (BID 2023-03B)									
Item No.	Description		Unit Measure	Est. Units	DOT Design - Unit Price	DOT Design - Extended	Press - Unit	Ridgewood Press - Extended	Premium Prod - Unit Price	I I
D36	MECHANICAL INSPECTOR TECHNICAL SECTION- 8 1/2" x 11" UCC-F145 State Form, Three Part NCR, White, Canary, Hard Stock Card, Green Ink, Single-Sided. (Township Name and Address Imprinted on all UCC Forms)		250/pk	18	NB	NB	NB	NB	NB	NB
D37	8 1/2 x 11 Door Hangers - Colored Card Stock, Black Ink 2 - sided Perforated Door Knob Cut Out - Printed 2 - up perforated down center line.	Wtr	ea	4000	NB	NB	NB	NB	NB	NB
1 114X	8 1/2" X 11" Appeal Rights Form, Three Part NCR, White, Canary, Pink, Sinlge-sided Black Ink	Crt	500/bx	1	NB	NB	\$130.00	\$130.00	NB	NB
D39	4" x 10" Warrant Paper, Continuous Two Part, White, Canary; Double-Sided; Black Ink	Crt	1/carton	1	NB	NB	NB	NB	NB	NB
D40	* 8½" x 6" (6 1/2" x 4" when ripped out) Cash Bail Receipts, Three Part, One sided, NCR carbonless Booklet, White, Canary, Pink, Black Ink, Bound into booklets of 50, Sequentially Numbered. "Hard stock page" included for in- between writing (same as D23 but with Police Address)	Crt	1000/bx	1	NB	NB	NB	NB	NB	NB
	9 3/4" x 4" Traffic Summonses, Four Part NCR, White, Blue, Yellow, Manila Hard Stock, Black Ink, Double-Sided, Books of 10; Sequentially Numbered (similar to D22)	Crt	2000/bx	1	NB	NB	NB	NB	NB	NB
	,	SUBT	OTAL (D1-	D41)		\$160.00		\$27,131.00		\$0.00
* Items	must be printed according to specifications provided by	the Ad	ministrative	Office						
	ON E: BOOKLETS/BROCHURES									
	3 ½" x 6 1/5" calendars, monthly pocket calendar with map, imprint 2 ½" x 2 ¼ ", 1 color imprint, shipping and plate charge	Rec Sr	ea	300	NB	NB	NB	NB	NB	NB
E2	9 1/2"x 7" calendars, monthly planning guide, imprint 31/2"x1",1 color imprint, shipping and plate charge	Rec Sr	ea	300	NB	NB	NB	NB	NB	NB
Е3	8½" x 14" Best of Times Seasonal Brochure, 36 pages plus Cover, Cover: 8½" x 14" Prints Black Ink, Double-Sided on Ivory 67# Bristol Cover (No Bleed); Pages: 8½" x 14" Prints Black Ink, Double-Sided on Ivory 60#; Saddle Stitch into finished books (300ea, 2x per year)	Rec Sr	ea	600	NB	NB	NB	NB	NB	NB
E4	8½" x 11" Sponsorship Brochure, Multi-Color Ink, Glossy 100# Paper, Tri-Fold	Rec	ea	200	\$1.00	\$200.00	\$0.85	\$170.00	NB	NB

PRINT	ING-DIRECT MAILING SERVICES (BID 2023-03B)									
Item No.	Description		Unit Measure	Est. Units	DOT Design - Unit Price		Press - Unit	Ridgewood Press - Extended	Premium Prod - Unit Price	Premium Prod - Extended
	8½" x 11" Travel Camp Staff Manuals, 20lb., Stapled 2 at Left, Single-Sided, One-Color Ink, 20lb. Yellow Front Cover Sheet, 30 Pages including Cover	Rec	ea	100	NB	NB	\$1.80	\$180.00	NB	NB
E6	8½" x 11" Camp Staff Manuals, 20lb., One Staple at Top Left Corner, Single and Double-Sided Mixed, One-Color Ink, 20lb. Cream Front and Back Cover Sheets, 19 Pages including Covers	Rec	ea	100	NB	NB	\$1.70	\$170.00	NB	NB
E7	Warning Books, 2 Part, 4" x 9½" w/ Wraparound Covers in 25's, 2 Staples, Perforated, Numbering	PD	ea	100	NB	NB	NB	NB	NB	NB
E8	8½" x 11" Community Services Brochure, White 100# Gloss Book, Printed 4 Colors Front, 4 Colors Back, Double Score, Tri-Fold	PD	ea	1,000	NB	NB	\$0.55	\$550.00	NB	NB
E9	8½" x 11" "Police Other", Multi-Color Ink, Glossy 100# Paper, Tri-Fold	PD	ea	500	NB	NB	\$0.62	\$310.00	NB	NB
E10	8½" x 11" Multicultural Day Brochure, 9 Sheets, Full Color Double-Sided, Folded and Saddle-Stitched	Myr	ea	500	NB	NB	\$3.50	\$1,750.00	NB	NB
EH	8½" x 11" Multicultural Day Brochure, 8 Sheets, Full Color Double-Sided, Folded and Saddle-Stitched	Myr	ea	500	NB	NB	\$4.00	\$2,000.00	NB	NB
E12	8½" x 11" Youth Academy Brochure, 1 Sheets, Multi Color Double-Sided, Folded Glossy 100# Paper	PD	ea	250	\$1.10	\$275.00	\$0.85	\$212.50	NB	NB
	8½" x 11" Open Space Brochure, White 100# Gloss Book, Printed 4 Colors Front (text and pictures), 4 Colors Back (text and pictures), Double Score, Tri-Fold	OpSp	ea	2,000	\$0.19	\$380.00	\$0.17	\$340.00	NB	NB
E14	4 1/4" x 5½" Postcards, White Cardstock 110lb Printed Two Sides, Full Color	EDC	ea	3,000	NB	NB	\$0.25	\$750.00	NB	NB
		SUB	ΓΟΤΑL (E1-	E14)		\$855.00		\$6,432.50	\$0.00	\$0.00
SECTI.	ON F: POSTERS/SIGNS									
F1	30" x 42" Street Map, White Bond Paper w/ Black Ink (Printed from Engineering GIS File), Folded	Eng	ea	50	NB	NB	NB	NB	NB	NB
F2	12" x 18" No Parking – Temporary Police Order signs. Printed on .024 plastic. Orange background, Black Lettering. Marlboro Township Police written on bottom.	PD	50/bx	1	1.700	\$85.00	NB	NB	NB	NB
F3	12" x 12" Posted – No Trespassing, No Hunting, Fishing or Trapping Under Penalty of Law, Township of Marlboro Sign. Printed on .024 plastic. White background Red Lettering. Outlined in Red.		50/bx	1	1.500	\$75.00	NB	NB	NB	NB

PRINT	ING-DIRECT MAILING SERVICES (BID 2023-03B)									
Item No.	Description		Unit Measure	Est. Units	DOT Design - Unit Price	DOT Design - Extended	Ridgewood Press - Unit Price	Ridgewood Press - Extended	Premium Prod - Unit Price	Premium Prod - Extended
		SUI	BTOTAL (F	1-F3)		\$160.00		\$0.00		\$0.00
SECTI	ON G: STICKERS			1						
G1	INSPECTION STICKER APPROVAL FOR BUILDLING-4" x 4" UCC F-221 State Form, Easy Peel Label, white printed with black ink. (Township Name and Address Imprinted on all UCC Stickers)	Bldg	500/bx	16	NB	NB	\$105.00	\$1,680.00	NB	NB
G2	INSPECTION STICKER APPROVAL FOR ELECTRIC-4" x 4" UCC F-222A State Form, Easy Peel Label, white printed with pantone purple ink. (Township Name and Address Imprinted on all UCC Stickers)	Bldg	500/bx	16	NB	NB	\$105.00	\$1,680.00	NB	NB
G3	INSPECTION STICKER APPROVAL FOR PLUMBING-4" x 4" UCC F-223 State Form, Easy Peel Label, white printed with reflex blue ink. (Township Name and Address Imprinted on all UCC Stickers)	Bldg	500/bx	16	NB	NB	\$105.00	\$1,680.00	NB	NB
G4	INSPECTION STICKER APPROVAL FOR FIRE PROTECTION- 4" x 4" UCC F-224 State Form, Easy Peel Label, white printed with warm red ink. (Township Name and Address Imprinted on all UCC Stickers)	Bldg	500/bx	16	NB	NB	\$105.00	\$1,680.00	NB	NB
G5	INSPECTION STICKER NOT APPROVAL - 4" x 4" UCC F-230 State Form, Easy Peel Label, flourescent red background with black ink. (Township Name and Address Imprinted on all UCC Stickers)	Bldg	500/bx	20	NB	NB	\$113.00	\$2,260.00	NB	NB
G6	flourescent red background with black ink (Township Name and Address Imprinted on all UCC Stickers)	Bldg	500/bx	16	NB	NB	\$123.00	\$1,968.00	NB	NB
G7	and Address Imprinted on all UCC Stickers)	Bldg	500/bx	6	NB	NB	\$117.00	\$702.00	NB	NB
G8	STOP CONSTRUCTION STICKER NOTICE- 6" x 8" UCC F-255 State Form, placard 150 lb. tag or equal. Fluorescent red printed with black letters. NOTE: Print for outdoor use. (Township Name and Address Imprinted on all UCC Stickers)	Bldg	250/bx	2	NB	NB	NB	NB	NB	NB

PRINT	TING-DIRECT MAILING SERVICES (BID 2023-03B)									
Item No.	Description		Unit Measure	Est. Units	DOT Design - Unit Price	DOT Design - Extended	Press - Unit	Ridgewood Press - Extended	Premium Prod - Unit Price	Premium Prod - Extended
G9	UNSAFE STRUCTURE STICKER NOTICE- 6" x 8" UCC F-245 State Form, placard 150 lb. tag or equal. Fluorescent red printed with black letters. NOTE: Print for outdoor use. (Township Name and Address Imprinted on all UCC Stickers)	Bldg	250/bx	2	NB	NB	NB	NB	NB	NB
G10	1" x 1 1/4" - "2020", Self-Sticking, Water Resistant, Glossy, One Color Background, Black Writing	Swim	ea	5,000	NB	NB	NB	NB	NB	NB
( <del>+</del>	INSPECTION STICKER APPROVAL FOR MECHNICAL INSPECTION- 4"x 6" Easy Peel Label, white printed with dark green ink. (Township Name and Address Imprinted on all UCC Stickers)	Bldg	500/bx	10	NB	NB	\$159.00	\$1,590.00	NB	NB
G12	Fire Alarm Panel Stickers-DO NOT RESET ALARMS 5"x 9" Easy Peel Label, white labels with black ink (Color Township Logo on top right and Color Fire Bureau Logo on top left)	Fire	250/box	1	NB	NB	NB	NB	NB	NB
		SUBT	OTAL (G1-	G12)		\$0.00		\$13,224.00		\$0.00
			CORRI	ECTED				\$13,240.00		
	ON H: COPIES			1						
	8½" x 11" B/W Copies, Single-Sided	-	ea	1,000		NB	\$0.09			NB
	8½" x 11" B/W Copies, Double-Sided	-	ea		NB	NB	\$0.16			NB
	8½" x 11" Color Copies, Single-Sided	-	ea		NB	NB	\$0.29			NB
H4	8½" x 11" Color Copies, Double-Sided	-	ea	1,000	NB	NB	\$0.32	\$320.00	NB	NB
Н5	100 yards printed 6" width ribbon. Royal blue print with yello gold type (sublimated dye process)	Admin	100 yds	1	NB	NB	NB	NB	NB	NB
	10 original documents, each between 10-100 pages each. Totaling approximately 500 pages per set. 8.5" x 11", black and white, single-sided, three hole punched.	Admin	10/pk	2	NB	NB	NB	NB	NB	NB
		SUB	TOTAL (H	I-H6)		\$0.00		\$860.00		\$0.00
			,							
	ON I: MISCELLANEOUS									
	4" x 2" Speedometer Labels, Oak Tag White Stock, One Color Ink	PD	500/bx	1	NB	NB	\$165.00	\$165.00	NB	NB
I2	8½" x 11" Admin Letter for Tax Bill Mailing, White, Double-Sided, Black Ink	TC	ea	15,000	NB	NB	\$0.15	\$2,250.00	NB	NB

PRINT	ING-DIRECT MAILING SERVICES (BID 2023-03B)										
Item No.	Description		Unit Measure	Est. Units		Design	DOT Design - Extended	Press - Unit	Ridgewood Press - Extended	Premium Prod - Unit Price	Premium Prod - Extended
13	8½" x 11" Tax Collector Letter for Tax Bill Mailing, White, Double-Sided, Black Ink	TC	ea	15,000	NB		NB	\$0.15	\$2,250.00	NB	NB
14	8½" x 11" Estimated Tax Bill Letter, White, One Sided, Black Ink	TC	ea	15,000	NB		NB	\$0.09	\$1,350.00	NB	NB
15	$8\frac{1}{2}$ x 11" Program Fliers, 4-Color Process, 2 sides, Glossy $100\#$	Rec	ea	5,000	NB		NB	\$0.30	\$1,500.00	NB	NB
I6	18" x 24" Marlboro Day Signs, Double-Sided, Core Plastic, Metal Stands, Vinyl Print, Royal Blue Ink	Rec	ea	24		\$7.00	\$168.00	\$12.70	\$304.80		
I7	2' x 4' Marlboro Day Signs, Double-Sided, Core Plastic, Metal Stands, Vinyl Print, Royal Blue & Red Ink	Rec	ea	12		\$17.00	\$204.00	NB	NB	NB	NB
18	2' x 4' Marlboro Day Signs, Double-Sided, Core Plastic, Metal Stands, Vinyl Print, Royal Blue Ink	Rec	ea	12		\$17.00	\$204.00	NB	NB	NB	NB
1 10	4' x 3½' Marlboro Day Event Schedule Sign, Single-Sided, Core Plastic, Royal Blue and Red Ink	Rec	ea	6		\$40.00	\$240.00	NB	NB	NB	NB
I10	Dog License Tags, Colored Aluminum, Sequentially Numbered with Flat Links	AC	ea	3,200	NB		NB	NB	NB	NB	NB
I11	Cat License Tags, Colored Aluminum, Sequentially Numbered with Small Cat Links	AC	ea	300	NB		NB	NB	NB	NB	NB
	4" x 8.5" Parking Permit Hangtags, Proprint White 22PT, 12x20 Polypropylene, Tags in three different colors to represent three different parking lots, Front prints 2 color with Hologram Security foil strip below each number - 1/4" x 4" across hangtag, Sequentially numbered on front of tag with an expiration date (TBD), back of hangtag with one color typeset copy. (No Plate Charges)	Clrk	ea	1,800	NB		NB	NB	NB	NB	NB
113	10 3/4" (W) x 8" (H) Hard Cover Binder, Black, Slightly rounded spine with clear plastic spot for title/name, 4 Locking Rings, 2" Diameter, Supplied with set of A-Z dividers	Reg	ea	1	NB		NB	NB	NB	NB	NB
	4 1/4" X 11 Door Hangers - Red Card Stock, Black Ink 2-Sided Perforated Door Know Cut Out	Wtr	ea	1,500	NB			\$0.40	\$600.00		
I15	<u> </u>	Rec	ea	10		\$75.00	\$750.00	NB	NB	NB	NB
I16	18' x 24x Double Sided, Core Plastic Signs, Full Color, Metal Stands	Rec	ea	50		\$7.50	\$375.00	NB		NB	NB
I17	18x24 lawn signs 2 sided with wire frames	Pd	ea	500		\$4.75	\$2,375.00			NB	NB
	3' x5' Vinyl Banner, Full Color	Rec	ea	4		\$40.00	\$240.00			NB	NB
I19	10' x 2' Polyester Feather Flag	Rec	ea	6	\$	140.00	\$840.00	NB	NB	NB	NB

PRINT	ING-DIRECT MAILING SERVICES (BID 2023-03B)										
Item No.	Description		Unit Measure	Est. Units	DOT D	Design	DOT Design - Extended	Ridgewood Press - Unit Price		Premium Prod - Unit Price	Premium Prod - Extended
120	2'x4' Park signage, Metal/Aluminum, weather resistant, single-sided, inc. Rec Logo, black ink	Rec	ea	14	\$	\$30.00	\$420.00	NB	NB	NB	NB
I21	8 1/2" x 5 1/2" Card Stock, 120lb, non-coated, matte white, One Color (Reflex Blue Raised Ink) One Sided Print, scored (for folding in half)	Myr	ea (250/box)	1	NB		NB	NB	NB	NB	NB
I22	8 1/2" x 11" Admin Letter for Tax Bill Mailing, White, Double-Sided, Full Color Ink one side (text and pictures), black ink on back side	Myr	ea	15000	NB		NB	NB	NB	NB	NB
I23	8 1/2" x 11" Admin Letter for Tax Bill Mailing, White, Double-Sided, Full Color Ink two sides	Myr	ea	15000	NB		NB	NB	NB	NB	NB
124	Two Page 8 1/2" x 11", White, Double-Sided, Full Color Ink two sides	Myr	ea	15000	NB		NB	\$0.20	\$3,000.00	NB	NB
125	Three Page 8 1/2" x 11", White, Double-Sided, Full Color Ink two sides	Myr	ea	15000	NB		NB	\$0.25	\$3,750.00	NB	NB
1 176 1	Four Page 8 1/2" x 11", White, Double-Sided, Full Color Ink two sides	Myr	ea	15000	NB		NB	\$0.35	\$5,250.00	NB	NB
1 1// 1	Five Page 8 1/2" x 11", White, Double-Sided, Full Color Ink two sides	Myr	ea	15000	NB		NB	\$0.42	\$6,300.00	NB	NB
1 178 1	8 1/2" x 3 1/2" Bulk Permit Card, Printed Full Color on Two Sides #67 Spring Hill Blue Vellum	DPW	1000/bx	1	NB		NB	\$360.00	\$360.00	NB	NB
	4 1/4" X 11 Door Hangers - Ultra-Lime Card Stock, Black Ink 2-Sided Perforated Door Know Cut Out	DPW	1000/bx	1	NB		NB	\$360.00	\$360.00	NB	NB
I30	10x10 Polyester custom canopy tent	Rec	ea	2	\$8	880.00	\$1,760.00	NB	NB	NB	NB
1 131 1	6' - 8' custom, 1 sided, liquid repellent, table throw full color	Rec	ea	2	\$1	195.00	\$390.00	NB	NB	NB	NB
I32	4'x8' coroplast signs, full color single side	marke t	ea	8	\$	\$75.00	\$600.00	NB	NB	NB	NB
	18"x24" coroplast lawn sign with wire frame - full color, both sides	marke t	ea	6		\$7.50	\$45.00	\$30.00	\$180.00		
I34	4'x8' coroplast signs, full color single side	EDC	ea	6	\$	\$75.00	\$450.00	NB	NB	NB	NB
135	100 yards printed 6" width ribbon. Royal blue background, with yellow-gold text (sublimated dye process)	EDC	ea	1	NB			NB	NB	NB	NB
		SUI	BTOTAL (I1				\$9,061.00		\$27,619.80		\$0.00
			CORRE	CTED			\$8,981.00				
SECTI	ON J: PRINT/MAILING										

PRINT	ING-DIRECT MAILING SERVICES (BID 2023-03B)									
Item No.	Description		Unit Measure	Est. Units	DOT Design	DOT Design - Extended	Ridgewood Press - Unit Price	0	Prod - Unit	Premium Prod - Extended
J1	8½" x 11" Camp Brochure & Insert, Brochure: 4/4 on 70# Offset, Insert: 1/1 Black on 70# Offset, Tri-Fold, Nest, 2 Wafer Seals, Mailing Service to each household, Bulk Rate Indicia, Direct Mail Drop from Main Post Office, Sort for Carrier Route Postal Patrons	Rec	ea	15,000	NB	NB	NB	NB	\$0.240	\$3,600.00
J2	11"x17" flat size Water Quality (ccr) Report, folded in half (8 1/2" x 11") then Tri-Folded 8,800 for bulk mailing - finished size 3.67" x 8 1/2", full color both sides, 100# gloss text with AQ, 2 Clear Wafer Seals, Ink Jet Address Printed and Mailing (with current permit)	Wtr	ea	10,000	NB	NB	NB	NB	NB	NB
14	5½" x 8½" Postcards, 4-Color Process 2 sides on White 80# Gloss Cover (with Bleed), Saturation Mailing Services	Rec	ea	30,000	NB	NB	NB	NB	\$0.175	\$5,250.00
J4	5½" x 8½" Postcards, 4-Color Process over Black Ink on White 80# Gloss Cover (with Bleed), Saturation Mailing Services (2 Mailings, 16,000 each)	Rec	ea	32,000	NB	NB	NB	NB	\$0.175	\$5,600.00
12	sides on White 80# Uncoated Cover (No Bleed)	Clrk	ea	34,000	NB	NB	NB	NB	\$0.155	\$5,270.00
Ј6	saturation mailing services	DPW	ea	15,200	NB	NB	\$0.14	\$2,128.00	\$0.139	\$2,112.80
J7	mailing services	DPW	ea	15,200	NB	NB	\$0.14	\$2,128.00	\$0.139	\$2,112.80
Ј8	Recycling Calendar, (24 Pages plus Cover) Cover: 11"x17" Prints 4-Color Process over Black & 1 PMS on White 80# Opaque Cover (No Bleed); Pages: 11"x17" prints Black & 1 PMS 2 Sides on White 70# Opaque Text (No Bleed); Score Covers, Gather Signatures, Saddle Stitch into Finished books (8½" x 11"), Saturation Mailing Services	DPW	ea	15,200	NB	NB	NB	NB	\$0.920	\$13,984.00
10	8½" x 11" Active Shooter Checklist: 2-Sided Card Stock Multi Color	PD	ea	100	NB	NB	\$1.20	\$120.00	\$2.150	\$215.00

<b>PRIN</b> T	TING-DIRECT MAILING SERVICES (BID 2023-03B)									
Item No.	Description		Unit Measure	Est. Units	DOT Design	DOT Design - Extended	Press - Unit	Ridgewood Press - Extended	Premium Prod - Unit Price	
J10	Alarm Registration Letter & Mailing Supplied by Twp.: Digital information pertaining to names and addresses for alarm registration recipients, Digital format of Direct Connect Letter, Invoice and Township Alarm Oridnance.  Print: 8½" x 11" Alarm Direct Connect Letter & 8½" x 11" Alarm Registration Invoice to be double sided with Township Oridinance on back; #9 Regular and #10 Window 24# White Wove Envelopes printed Reflex Blue Ink on 1 Side; Mail Services: Print Letter and Invoice, Insert along with #9 into #10 Window Envelope (so that recipient address shows through window), Sent as Metered Mail	PD	ea	5,000	NB	NB	\$0.56	\$2,800.00	NB	NB
J11	Pet Registration Letter & Mailing: Supplied by Twp.: Digital information pertaining to names and addresses for Pet Registration recipients, Digital format of Pet Registration Invoice. Print: 8½" x 11" Pet Registration Invoice, #10 Window 24# White Wove Envelopes printed Reflex Blue Ink on 1 Side; Mail Services: Print Pet Registration Invoice, Insert into #10 Window Envelope (so that recipient address shows through window), Sent as Metered Mail	PD	ea	3,500	NB	NB	\$0.45	\$1,575.00	NB	NB
J12	Fall Mailing, <b>Letter &amp; Brochure:</b> 4 Pages Total, 8½" x 11" White 60# Opaque, Black Ink, Double-Sided, Nest 4 Sheets and Tri-Fold to fit into #10 Envelope; <b>Envelope:</b> 24# White Wove #10 Regular, Black Ink, Single-Sided; <b>Mail Services:</b> Insert Nested Letters into #10 Envelope, Ink Jet Address and Mail with First Class Indicia	Myr	ea	13,500	NB	NB	NB	NB	\$0.380	\$5,130.00
J13	Mayors Newsletter, 3 sheets 11x17, White 60lb Gloss paper, folded in half into 8.5"x11" size, Printed both sides Full Color (text and pictures), Stapled on folded edge (into 12 page book 8.5"x11"), Folded into quarters (5.5" x 8.5") and closed with sticker for mailing, No bleed. Ink Jet Address and Mail with First Class Indicia. Note: May be submitted in page order, and as multiple files.	Myr	ea	15,000	NB	NB	NB	NB	\$0.510	\$7,650.00

PRINT	TING-DIRECT MAILING SERVICES (BID 2023-03B)									
Item No.	Description		Unit Measure	Est. Units	DOT Design - Unit Price	DOT Design - Extended	Press - Unit	Ridgewood Press - Extended	Premium Prod - Unit Price	Premium Prod - Extended
J14	Mayors Newsletter, 3 sheets 11x17, White 60lb non-coated paper, folded in half into 8.5"x11" size, Printed both sides Full Color (text and pictures), Stapled on folded edge (into 12 page book 8.5"x11"), Folded into quarters (5.5" x 8.5") and closed with sticker for mailing, No bleed. Ink Jet Address and Mail with First Class Indicia. Note: May be submitted in page order, and as multiple files.	Myr	ea	15,000	NB	NB	NB	NB	\$0.510	\$7,650.00
J15	Mayors Newsletter, 4 sheets 11x17, White 60lb Gloss paper, folded in half into 8.5"x11" size, Printed both sides Full Color (text and pictures), Stapled on folded edge (into 16 page book 8.5"x11"), Folded into quarters (5.5" x 8.5") and closed with sticker for mailing, No bleed. Ink Jet Address and Mail with First Class Indicia. Note: May be submitted in page order, and as multiple files.	Myr	ea	15,000	NB	NB	NB	NB	\$0.570	\$8,550.00
J16	Mayors Newsletter, 4 sheets 11x17, White 60lb non-coated paper, folded in half into 8.5"x11" size, Printed both sides Full Color (text and pictures), Stapled on folded edge (into 16 page book 8.5"x11"), Folded into quarters (5.5" x 8.5") and closed with sticker for mailing, No bleed. Ink Jet Address and Mail with First Class Indicia. Note: May be submitted in page order, and as multiple files.	Myr	ea	15,000	NB	NB	NB	NB	\$0.570	\$8,550.00
	Mayors Newsletter, 5 sheets 11x17, White 60lb Gloss paper, folded in half into 8.5"x11" size, Printed both sides Full Color (text and pictures), Stapled on folded edge (into 20 page book 8.5"x11"), Folded into quarters (5.5" x 8.5") and closed with sticker for mailing, No bleed. Ink Jet Address and Mail with First Class Indicia. Note: May be submitted in page order, and as multiple files.	Муг	ea	15,000	NB	NB	NB	NB	\$0.575	\$8,625.00

PRINT	TING-DIRECT MAILING SERVICES (BID 2023-03B)									
Item No.	Description		Unit Measure	Est. Units	DOT Design	DOT Design - Extended	Press - Unit	Ridgewood Press - Extended	Premium Prod - Unit Price	
J18	Mayors Newsletter, 5 sheets 11x17, White 60lb non-coated paper, folded in half into 8.5"x11" size, Printed both sides Full Color (text and pictures), Stapled on folded edge (into 20 page book 8.5"x11"), Folded into quarters (5.5" x 8.5") and closed with sticker for mailing, No bleed. Ink Jet Address and Mail with First Class Indicia. Note: May be submitted in page order, and as multiple files.	Myr	ea	15,000	NB	NB	NB	NB	\$0.575	\$8,625.00
J19	Mayors Newsletter, 6 sheets 11x17, White 60lb Gloss paper, folded in half into 8.5"x11" size, Printed both sides Full Color (text and pictures), Stapled on folded edge (into 24 page book 8.5"x11"), Folded into quarters (5.5" x 8.5") and closed with sticker for mailing, No bleed. Ink Jet Address and Mail with First Class Indicia. Note: May be submitted in page order, and as multiple files.	Муг	ea	15,000	NB	NB	NB	NB	\$0.650	\$9,750.00
J20	Mayors Newsletter, 6 sheets 11x17, White 60lb non-coated paper, folded in half into 8.5"x11" size, Printed both sides Full Color (text and pictures), Stapled on folded edge (into 24 page book 8.5"x11"), Folded into quarters (5.5" x 8.5") and closed with sticker for mailing, No bleed. Ink Jet Address and Mail with First Class Indicia. Note: May be submitted in page order, and as multiple files.	Муг	ea	15,000	NB	NB	NB	NB	\$0.650	\$9,750.00
	Mayors Newsletter, 2 sheets 11x17, White 60lb Gloss paper, folded in half into 8.5"x11" size, Printed both sides Full Color (text and pictures), Stapled on folded edge (into 8 page book 8.5"x11"), Folded into quarters (5.5" x 8.5") and closed with sticker for mailing, No bleed. Ink Jet Address and Mail with First Class Indicia. Note: May be submitted in page order, and as multiple files.	Муг	ea	15,000	NB	NB	NB	NB	\$0.400	\$6,000.00

PRINT	ING-DIRECT MAILING SERVICES (BID 2023-03B)									
Item No.	Description		Unit Measure	Est. Units	DOT Design	DOT Design - Extended	Ridgewood Press - Unit Price	0	Prod - Unit	Premium Prod - Extended
Ј22	Mayors Newsletter, 2 sheets 11x17, White 60lb non-coated paper, folded in half into 8.5"x11" size, Printed both sides Full Color (text and pictures), Stapled on folded edge (into 8 page book 8.5"x11"), Folded into quarters (5.5" x 8.5") and closed with sticker for mailing, No bleed. Ink Jet Address and Mail with First Class Indicia. Note: May be submitted in page order, and as multiple files.	Myr	ea	15,000	NB	NB	NB	NB	\$0.400	\$6,000.00
J23	for mailing, Ink Jet Address and Mail with First Class Indicia.	Myr	ea	15,000	NB	NB	NB	NB	\$0.265	\$3,975.00
J24	8.5"x14" brochure printed full color 1 side, Black and white other side, 80lb non-coated white cover, folded in on both short edge to center, to 8.5"x 7, folded in half to 8.5"x 11". Closed with sticker for mailing, Ink Jet Address and Mail with First Class Indicia.	Myr	ea	15,000	NB	NB	NB	NB	\$0.265	\$3,975.00
J25	along folded edge (into 8 8.5" x 11"), Folded into quarters (5.5" x 8.5") and closed with sticker for mailing. No bleed. Ink Jet Address and Mail with First Class Indicia.	Myr	ea	15,000	NB	NB	NB	NB	\$0.575	\$8,625.00
J26	11"x 34" Quad fold brochure (into 8.5"x 11"), White 60lb Glossy, full color one side, single color one side, to be folded then folded into 8.5"x 5.5" and closed with sticker for mailing, no bleed, Ink Jet Address and Mail with First Class Indicia	Myr	ea	15,000	NB	NB	NB	NB	NB	NB
J27	11"x 34" Quad fold brochure (into 8.5"x 11"), White 60lb Glossy, full color one side, black and white one side, to be folded into 8.5"x 5.5" and closed with sticker for mailing, no bleed, Ink Jet Address and Mail with First Class Indicia	Myr	ea	15,000	NB	NB	NB	NB	NB	NB

PRINT	TING-DIRECT MAILING SERVICES (BID 2023-03B)									
Item No.	Description		Unit Measure	Est. Units	DOT Design	DOT Design - Extended	Ridgewood Press - Unit Price		Premium Prod - Unit Price	I I
1 1/X	11"x 34" Quad fold brochure (into 8.5"x 11"), White 60lb non-coated, full color one side, black and white one side, closed with sticker for mailing, no bleed, Ink Jet Address and Mail with First Class Indicia	Myr	ea	15,000	NB	NB	NB	NB	NB	NB
	11"x 34" Quad fold brochure (into 8.5"x 11"), White 60lb glossy, full color both sides, to be folded into 8"x 5.5" and closed with sticker for mailing, no bleed, Ink Jet Address and Mail with First Class Indicia	Myr	ea	15,000	NB	NB	NB	NB	NB	NB
1 130	4" x 6" Post Card, Matte 80lb card stock, full color both sides, no bleed, mail with first class indeia	Myr	ea	15,000	NB	NB	\$0.120	\$1,800.00	\$0.119	\$1,785.00
	4" x 6" Post Card, Glossy 80lb card stock, full color both sides, no bleed, mail with first class indeia	Myr	ea	15,000	NB	NB	\$0.120	\$1,800.00	\$0.119	\$1,785.00
J32	4" x 6" Post Card, Matte 80lb card stock, full color one side, black and white one side, no bleed, mail with first class indcia	Myr	ea	15,000	NB	NB	\$0.120	\$1,800.00	\$0.119	\$1,785.00
J33	4" x 6" Post Card, Glossy 80lb card stock, full color one side, black and white one side, no bleed, mail with first class indcia	Myr	ea	15,000	NB	NB	\$0.120	\$1,800.00	\$0.119	\$1,785.00
1 1 4 / 1	5" x 7" Post Card, Matte 80lb cover, full color both sides, no bleed, mail with first class indcia	Myr	ea	15,000	NB	NB	\$0.127	\$1,905.00	\$0.126	\$1,890.00
1 145	5" x 7" Post Card, Glossy 80lb cover, full color both sides, no bleed, mail with first class indcia	Myr	ea	15,000	NB	NB	\$0.127	\$1,905.00	\$0.126	\$1,890.00
J36	5" x 7" Post Card, Matte 80lb cover, full color one side, black and white one side, no bleed, mail with first class indcia	Myr	ea	15,000	NB	NB	\$0.127	\$1,905.00	\$0.126	\$1,890.00
J37	5" x 7" Post Card, Glossy 80lb cover, full color one side, black and white one side, no bleed, mail with first class indcia	Myr	ea	15,000	NB	NB	\$0.127	\$1,905.00	\$0.126	\$1,890.00
	4.25" x 5.5" Marlboro Farmers Market Postcard, White Cardstock 120lb, Glossy, Printed Two Sides, Full Color - no bleed - Saturation Mailing Services	Myr	ea	15,000	NB	NB	\$0.127	\$1,905.00	\$0.126	\$1,890.00
J39	2 page letter, 8.5" x 11" on 20lb paper, both sides, black and white, folded and stuffed into #10 Envelope, Ink Jet Address and Mail with First Class Indicia	Myr	ea	15,000	NB	NB	\$0.380	\$5,700.00	\$0.250	\$3,750.00
J40	8.5" x 11" letter on 20lb paper, both sides side, full color, folded and stuffed into #10 Envelope, Ink Jet Address and Mail with First Class Indicia	Myr	ea	15,000	NB	NB	\$0.300	\$4,500.00	\$0.230	\$3,450.00

PRINT	TING-DIRECT MAILING SERVICES (BID 2023-03B)									
Item No.	Description		Unit Measure	Est. Units	DOT Design	DOT Design - Extended	Ridgewood Press - Unit Price	Ridgewood Press - Extended	Prod - Unit	Premium Prod - Extended
	8.5" x 11" letter on 20lb paper, one side, full color, folded and stuffed into #10 Envelope, Ink Jet Address and Mail with First Class Indicia	Myr	ea	15,000	NB	NB	\$0.300	\$4,500.00	\$0.230	\$3,450.00
	4.25" x 5.5" Marlboro Farmers Market Postcard, White Cardstock 120lb, non-coated, Printed Two Sides, Full Color - no bleed - Saturation Mailing Services	Myr	ea	15,000	NB	NB	\$0.110	\$1,650.00	\$0.110	\$1,650.00
J43	8.5" x 11" letter on 20lb paper, both sides side, black and white, folded and stuffed into #10 Envelope, Ink Jet Address and Mail with First Class Indicia	Myr	ea	15,000	NB	NB	\$0.300	\$4,500.00	\$0.230	\$3,450.00
	8.5" x 11" letter on 20lb paper, one side, black and white, folded and stuffed into #10 Envelope, Ink Jet Address and Mail with First Class Indicia	Myr	ea	15,000	NB	NB	\$0.280	\$4,200.00	\$0.230	\$3,450.00
J45	8½" x 14" preprinted Tax bills sorted by 3 digit zip code (less than 10 bills per 3 digit zip are grouped as miscellaneous). This will need to be picked up from the Township at 1979 Township Drive, Marlboro, NJ 07746 within 2 business days from notification by the Tax Collector. <b>Print:</b> #10 Window White Wove Envelopes printed Return Address, White w/ Black Ink, 8½" x 11" Tax Collector Letter for Tax Bill Mailing White, Double-Sided, Black Ink and 8½" x 11" Admin Letter for Tax Bill Mailing, White, Double-Sided, Full Color; <b>Mail Services:</b> Folding tax bill (14.5 x 8.5), double parallel fold, address to appear in window, Trifold Tax Collector letter and Admin Letter, Insert 3 items into envelope (so that recipient address on Tax Bill shows through window), inkjet bulk rate postage indicia on envelope (using mailing company's bulk permit information), prepare postal paperwork at presorted bulk mail postage rate and deliver to Post Office. Mailing must be completed within 4 business days after picking up the preprinted Tax Bills.	тс	ea	14,300	NB	NB	NB	NB	\$0.35	\$5,005.00

No.  Description  Description  Description  Unit Measure  Unit Measure  Unit Price  Extended  Press - Unit Price  Extended  Price  Press - Unit Price  Extended  Price  Press - Unit Price  Price  Press - Unit Price  Extended  Price  Press - Unit Price  Extended	rod - Unit	Premium Prod - Extended
from the Township at 1979 Township Drive, Marlboro, NJ 07746), pdf file of tax billing information in zip code order to be printed on tax bills (will be sent via email) Print:  Overprint tax billing information on supplied Tax Bill Form, #10 Window White Wove Envelopes printed Return Address, White w/ Black Ink, 8½" x 11" Tax Collector Letter for Tax Bill Mailing, White, Double-Sided, Black Ink and 8½" x 11" Admin Letter for Tax Bill Mailing,  J46 White, Double-Sided, Full Color; Mail Services: Folding tax bill (14.5 x 8.5), double parallel fold, address to appear in window, Trifold Tax Collector letter and Admin Letter, Insert 3 items into envelope (so that recipient address on Tax Bill shows through window), inkjet bulk rate postage indicia on envelope (using mailing company's bulk permit information), prepare postal paperwork at presorted bulk mail postage rate and deliver to Post Office. Mailing must be completed within 4 business days after receiving the pdf file with tax billing information.	\$0.39	\$5,577.00
SUBTOTAL (J1-J46) \$0.00 \$50,526.00		\$187,371.60
GRAND TOTAL (Sections A through J) \$10,236.00 \$140,539.30		\$187,371.60
CORRECTED \$10,156.00 \$140,555.30		\$187,371.60
If applicable, Hourly Artwork Set-up Fee \$0.00 \$75.00	\$25.00	
	Ψ23.00	
Total of 10 hours of estimated Artwork Set-up \$0.00 \$750.00		\$250.00
Notes South Control of the Control o		
2023-03B DOT Designing Items F2, F3 unit price bid was per piece, not per box as specified		